ALGEBRA I Quiz 3.2
1.
Classify the following polynomials:




(a)
5x6y3








(2 points)




(b)
2 – 11x2 – 8x + 6x2






(2 points)



2.
A cylinder has a radius of 4x + 2 and a height of 5x + 3. Write a polynomial expression that describes the total volume of the cylinder? Use the formula [image: image1.png]V= mh



 for the volume of a cylinder and leave your answer in terms of  [image: image2.png]


.





(3 points)


3.
Simplify (2x – 8y4)2







(2 points)



4.
A circular hedge has a square sculpture in its middle.  The radius of the hedge is 4x feet.  The side length of the square sculpture base is 3 feet shorter than the radius of the hedge.  What is the area of the hedge?  (Area of a circle = ∏r2)





(2 points)



5.  What is a simpler form of (-4m3 – m + 9) – (4m2 + m – 12)?



(1 point)


Simplify each sum, difference or product:

6. (5r3 + 8) + (6r3 + 3)







(1 point)
7. (x2 – 2) – (3x + 5)







(1 point)
8. (2g4 – 3g + 9) + (-g3 + 12g)






(1 point)
9. (14h4 + 3h3) – (9h4 + 2h3)






(1 point)
10. (-6w4 + w2) – (-2w3 + 4w2 – w)






(1 point)
11. (4x – 2)(3x – 6)








(2 points)
12. (3x + 4)(2x + 5)








(2 points)
13. (6x – 8)(x + 7)








(2 points)
14. (4y – 3)(2y + 2)








(2 points)
15.

Complete the graphic organizer on classifying polynomials below:



[image: image3.png]Classifying Polynomials
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(12 points)
16. Holly is going into business as a sidewalk ice cream vendor. The start-up cost for her refrigerated cart and her sales permit is $600. She also purchased 500 ice cream items at $0.55 each. Holly sells each ice cream item for $1.50 each. Which equation represents Holly’s profit, y, based on the number of ice cream items, x, she sells?




(1 point)
A. y = 0.95x – 100

B. y = 0.95x – 605

C. y = 1.50x – 875

D. y = 1.50x – 1100
[image: image4.png]17.Which function has the same y-intercept as the graph below?
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18.Fred is given a rectangular picce of paper. If the length of Freds
piece of paper is represented by 2x — 6 and the width is represented
by 3¢ — 5, then the paper has a total area represented by

@se - 11 (©10x — 22
(B)6x2 — 28x + 30 (D)6x2 — 6x — 11




19.
Every year, Caleb’s grandmother gives him $50 for his birthday.

What type of function can be used to represent the total amount of money Caleb has received for his birthdays?

A. Cubic

B. Exponential

C. Linear
D. Quadratic









[image: image5.png]20.How does the graph of flx) = 3(x — 2)> + 1 compare to the graph
of glx) = 22
@) The graph of fix) is wider than the graph of g(x), and its vertex
is moved to the left 2 units and up I unit.

“The graph of flx) is narrower than the graph of g(x), and its vertex
is moved to the right 2 units and up 1 unit.

The graph of f(x) is narrower than the graph of g(x), and its vertex
is moved to the left 2 units and up 1 unit.

©

) “The graph of f(x) is wider than the graph of g(x), and its vertex is
moved to the right 2 units and up 1 unit.

21.Connor wants to attend the town carnival. The price of admission to
the carnival is $4.50, and each ride costs an additional 79 cents.
If he can spend at most $16.00 at the carnival, which inequality can
be used to solve for r, the ber of rides Connor can go on, and
what is the maximum number of rides he can go on?

(4) 0.79 + 4.50r < 16.00; 3 rides
(B) 0.79 + 4.50r < 16.00; 4 rides
(©) 4.50 + 0.79r < 16.00; 14 rides
(D) 450 + 0.79r < 16.00; 15 rides

22. Some banks charge a [ee on savings accounts that are left inactive
for an extended period of time. The equation y = 5000(0.98)
represents the value, y, of one account that was left inactive for a
period of x years.

What is the y-intercept of this equation and what d

s it represent?
(4) 0.98, the percent of money in the account initially

(B) 0.98, the percent of money in the account after x years

() 5000, the amount of money in the account initially

(D) 5000, the amount of money in the account alter x years




[image: image6.png]23. The equation for the volume of a cylinder is V = xr®h. The positive
value of r, in terms of h and V, is
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24.Two functions, y = [x — 3| and 3x + 3y = 27, are graphed on the

same set of axes. Which statement is true about the solution to the

system of equations?

@) (3,0) is the solution to the system because it satisfies the equation
y=lx=3

() (90)is the solution to the system because it satisfies the equation
3x + 3y = 27.

(C) (6,3) s the solution to the system because it satisfies both equations.

(D) (3,0),(9,0), and (6,3) are the solutions to the system of equations
because they all satisly at least one of the equations.




25.
Which expression is equivalent to (3x2 – x – 2) – (–5x2 – 2x – 4)?



A. -2x2 – x – 2

B. -2x2 – 3x – 6

C. 8x2 + x + 2

D. 8x2 + 3x + 6

[image: image7.png]26.An astronaut drops a rock off the edge of a chiff on the Moon.
The distance, d(t), in meters, the rock travels after ¢ seconds can be
modeled by the function d(t) = 0.8t2. What is the average rate of change,
in meters per second, of the rock between 5 and 10 seconds after
it was dropped?
@12 (©60
(B)20 (D80




[image: image8.png]27.In 2013, the United States Postal Service charged $0.46 to mail a
letter weighing up to 1 0z and $0.20 per ounce for each additional
ounce. Which function would determine the cost, in dollars.
mailing a letter weighing z ounces where z is an in
than 1?7

@A)elz) = 0.462 + 0.20 (©elz) = 0.46(z — 1) + 0.20
(Bc(z) = 0.20: + 0.46 (De(z) = 020 — 1) + 0.46

25.1f a sequence is defined recursively by f(0) = 2 and
fin + 1) = =2f(n) + 3 for n = 0, then f(2) is equal to

@1 ©5
® —11 )17




[image: image9.png]10.The owner of a small computer repair business has one employee,
who is paid an hourly rate of $22. The owner estimates his weekly
profit using the function P(x) = 8600 — 22x. In this function, x
represents the number of

ired per week
(B) hours worked per week
(©) customers served per weck

(D) days worked per week

11 Krystal was given $3000 when she turned 2 years old. Her parents
invested it at a 2% interest rate compounded annually. No deposits or
withdrawals were made. Which expression can be used to determine
how much money Krystal had in the account when she turned 18?

(4)3000(1 + 0.02)'¢ (©)3000(1 + 0.02)'®
(B)3000(1 — 0.02)16 (D) 3000(1 — 0.02)18



[image: image10.png]12.Which table of values represents a linear relationship?

x | f(x) x | f(x)
1| -3 1| -3
[ 0| -1
1 1 1

2 2

3| 13 3
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3| 8 3| 27

®) (D)

13.Which domain would be the most appropriate set to use for a
function that predicts the number of household online-devices in
terms of the number of people in the household?

(A) integers (Cirrational numbers
(B) whole numbers (D)rational numbers




[image: image11.png]14.The inequality 7 — 2x < x — 8 is equivalent to
@x>9 ©x<9
3

®x>-3 Dr<-2

15.The value in dollars, o(x), of a certain car after x years is represented
by the equation v(x) = 25,000(0.86). To the nearest dollar,
how much more is the car worth after 2 years than after 3 years?

(4)2589 (©)15,901
(B)6510 (D)18,490




